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1 Unit vector angular coordinates

Determine the angular coordinates for the following unit vectors.
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2 Ket vectors in terms of z basis.

Consider a generic state
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where a.. and a.. are the cornponents in the {|-+£),|—£)} basis. Suppose that the particle is
subjected to a SG £ measurement. Using the two methods of calculating probabilities show
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3 Particles in states {|+&),|—&)} and measurements

Suppose that particles in the states {|+&),|—-&)} are subjected to SG § measurements. The
aim of this exercise is to use the ket formalism to calculate probabilities of measurement

outcomes.

a) Express [+&) and |—&) in terms of {|+2),|—%)}.

b} Express |[+¢) and |—§) in terms of {|4+2),|—2)}.

c¢) Suppose that a particle is in state |+&). Determine the probabilities of the two SG g
measurement outcomes.

d) Suppose that a particle is in state |—&). Determine the probabilities of the two SG
measurement outcomes.
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